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Going to Extraordinary
Lengths

You need: a hundreds board (or a photocopy of one)

At the shoelace factory, there are 100 machines.
The lace arrives at the factory in 10 centimetre pieces. The machines stretch each piece of
lace to make it the right size for each order.
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For example, the 2 machine stretches the lace so that it is twice as long, the 3 machine makes
it three times as long, and so on.

One day, just as they were about to start an urgent order for size six shoelaces, the 6 machine
broke down!

' ? The machine operator had a good idea: #* %

| know!
We could put it through the 2 machine
first and then through the 3 machine.

That would give size six shoelaces.
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1. Which machines does the boss need to keep?

2. Explain your answer.

Finding prime numbers up to 100
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